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Summary

With the arrival of M2M there will be surge of PS-only M2M devices on the market.  This class of device is supported in all 3GPP radio access technologies and will need to be certified.  It’s important to note that these devices don’t make use of any of the services on the CS domain.  This means that they would never attempt a CS registration thus reducing their load on the network.  Additionally since the devices are designed to be PS-only, they would obviously not certify features that they have not implemented.
It appears however that in the development of the 31.124 and 51.010-4 test specifications the assumption was made that the terminals would always attempt a registration on the CS domain.  In some cases that assumption leads to significant applicability problems in other cases a test would unfairly fail conformant terminals.

Some examples (from 31.124)

Send SMS on CS is mandatory for PS-only GERAN or UTRAN devices (potentially new test case required):
	SEND SMS
27.22.4.10
	
	
	Rel 99 ME
	Rel-4 ME
	Rel-5 ME
	Rel-6 ME
	Rel-7 ME
	Rel-8 ME
	Rel-9 ME
	Rel-10 ME

	Send Short Message over CS, UTRAN/GERAN
	R99
	1.9
	M
	M
	M
	M
	M
	C183
	C183
	C183


	C183
	IF ((NOT A.1/135) AND (A.1/64 OR A.1/134) THEN M ELSE N/A
	-- NOT (O_EUTRAN_NO_UTRAN NO_GERAN) AND (O_GERAN OR O_UTRAN)


Send USSD is mandatory for PS-only GERAN or UTRAN devices (applicability change required):

	SEND USSD


27.22.4.12
	
	
	Rel 99 ME
	Rel-4 ME
	Rel-5 ME
	Rel-6 ME
	Rel-7 ME
	Rel-8 ME
	Rel-9 ME
	Rel-10 ME

	7-bit data, successful
	R99
	1.1
	M
	M
	M
	M
	M
	C183
	C183
	C183


	C183
	IF ((NOT A.1/135) AND (A.1/64 OR A.1/134) THEN M ELSE N/A
	-- NOT (O_EUTRAN_NO_UTRAN NO_GERAN) AND (O_GERAN OR O_UTRAN)


Way forward
RIM would like CT6 to further study this problem and determine a way forward in resolving this issue.


